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QUESTIONNAIRE ON THE DICTAPHONE 
1.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

In the dictaphone there are 4 recorded messages. Suppose that the message number 3 is playing now and you realize because of its content you are not interested in having it in the memory. Keeping in mind your diagrams, how is the elimination? 
a. This message can be erased while you are listening to it. 

b. To delete the message it is necessary to wait until it finishes. 

c. Before eliminating it from the message memory, you should always press the Stop button. 

d. None of the previous answers. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





2.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

If the length of a message is 60 audio blocks, how long does it take to play it until the end? 

a. 20 seconds. 

b. 25 seconds. 

c. 30 seconds. 

d. 60 seconds (1 minute), it is the time limit to record as well as to play a message. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





3.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

If, while you are listening to a message, the alarm goes off, what happens? 

a. Nothing, because this situation is not specified in these diagrams. 

b. As there are two audio devices, one emits the alarm and the other one plays the message. 

c. The alarm sound has priority over the message sound. 

d. The alarm sound is not emitted until the end of the message. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





4.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

In view of the diagrams you have, how many messages does this dictaphone allow you to play, providing you do not use the option of recording new messages? 

a. It depends on the storage space of message memory. 

b. It depends on the length of the messages. 

c. It depends on the two factors expressed in sections a) and b). 

d. 10 messages only. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





5.

SET THE CHRONOMETER AT ZERO (Left Button). 

Minutes 
Seconds 
Hundredths 

0
0
0

PRESS THE BUTTON ON THE RIGHT OF THE CHRONOMETER. 

Suppose the alarm is ringing at this moment, it can be interrupted when: 

a. You press the Stop button. 

b. A minute has gone by. 

c. Any of the two conditions expressed in sections a) and b) are met. 

d. You press the Play button to listen to a specific message or the two conditions of sections a) and b) are met at the same time. 

Correct answer 



STOP THE CHRONOMETER (Right Button) AND WRITE DOWN THE TIME. 

Minutes 
Seconds 
Hundredths 





1
5

